 (
Kalkulationsverfahren (Überblick)
)



 (
Kalkulation
Vorwärtskalkulation
Rückwärtskalkulation
gegeben:
 
Listeneinkaufspreis
gesucht:
 
Bruttoverkaufspreis
gegeben:
 
Bruttoverkaufspreis
gesucht:
 
Listeneinkaufspreis
verkürzt:
Kalkulationszuschlag = 
(Brutto-VKP
*
 
- Einstandspreis) x 100
 
Einstandspreis
Einstandspreis + Kalkulationszuschlag = Brutto-VKP
*
Kalkulationsfaktor = 
Brutto-VKP
*
          
Einstandspreis
Einstandspreis x Kalkulationsfaktor = Brutto-VKP
*
Kalkulationsabschlag = 
(Brutto-VKP
* 
-
 Einstandspreis) x 100
 
Brutto-VKP
Brutto-VKP
* -
 Kalkulationsabschlag = Einstandspreis
Handelsspanne = 
(Netto-VKP
*
 
- Einstandspreis) x 100
 
Netto-VKP
Netto-VKP
* -
 Handelsspanne = Einstandspreis
Differenz
kalkulation
gegeben:
 
Listeneinkaufspreis
, Bruttoverkaufspreis
gesucht:
 
Gewinn 
in Euro/Prozent
verkürzt:
*VKP = Verkaufspreis
)
